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[image: image1.png]1. \/&/tudy the set up below and answer the questions that follow.

Flame

Bunsen burner flame Delivery tube

(a) What does the experiment demonstrate? ( % mark )

(b) When is this type of Bunsen burner flame produced? ( [(z mark )

(c ) Give two characteristics of the type of flame used in the set up. (1 mark)
6 A form two student was investigating effect of heat on sodium metal. Describe how

he carried out the experiment. (2 marks )
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. / Study the set up below and answer the questions that follow.

lﬂ] Combustion tuhe

J/

[ CGas ¥

Water

a1 11

(a) Name gas p (1 mark)

(b) Write a balanced equation for the reaction which takes place in the combustion tube. (1 mark)

(c ) State and explain what would happen if magnesium would be replaced with copper. (1 mark)

(V]





[image: image3.png](a,) The diagram below is an incomplete set up for preparation of hydrogen sulphide
’ in the laboratory. Complete the set up.

(b) Write the equation for preparation of the gas.

( 1 mark)

(1 mark)

(c ) State the precaution that would be taken in preparation of the gas.

( 1 mark)





[image: image4.png]/A hydrocarbon CxHy was ignited in the presence of oxygen. 4.65g of carbon (IV) oxide
and 1.4g of water were produced. Calculate the empirical formula of the hydrocarbon
hence value of x and y. (C 12,0=16,H=1) ( 3 marks )

Give the names of
(a) Br { 1 mark )
[
CH;—C — CH, CH;
|
OH
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é 2. / Using oxidation explain why conversion of ammonia to nitric (V) acid is called catalytic
oxidation of ammonia. ( 3 marks

[y

“7¥. /Carbon forms two oxides
(a) Identify the unstable oxide of carbon. (1 mark)

(b) Using dot and cross show bonding in the oxide you have mentioned in (a) above. ( 1 mark)

(c ) With an equation show the reaction of the oxide in a) with heated copper (II) oxide. (1 mark)

[
-

——
;o
/
S
—




[image: image6.png]¥ « An aqueous solution of ammonia was added dropwise to a solution of copper (1) sulphate
until in excess.
(a) State the observation made when
(1) A few drops of aqueous ammonia were added. (1 mark)

(ii) Excess aqueous ammonia was added. (1 mark)





[image: image7.png]“1 <@ / lhetable below gives information about the tons W and Y=

- Ton w* Y*
Electron arrangement 2.8 2.8.8
Number of neutrons 12 16

(a) How many protons are there in the nucleus of
(i) Element W?

(ii) Element Y ?

(b) Determine the relative formula mass of the compound formed between W and Y.

(c ) State two conditions under which the compound would conduct electricity.

('{@mark)
( 3@ mark )

( 1 mark)

(1 mark)





Z[image: image8.png]615 The apparatus below was set up by students to show the movement of ions during electrolysis.

(a) On the diagram indicate the anode and the cathode. (1 mark)

(b) State and explain the observation made when the switch is closed. (2 marks )

7. }é An an experiment to establish an equilibrium between chromate and dichromate ions is

\/ as shown below.
2C104 % ag) + 2H" g — (0 @ + H0 g
(Green) (Orange )
(a) What would be observed when sodium hydroxide is added to the system . ( 1 mark)

(b) Explain your observation in (a) above. (2 marks )





[image: image9.png]17- A student weighed 1.0g of egg shells. He reacted this mass with 15¢m” of 2M hydrochloric acid.
After the shells completely dissolved, the resulting solution was all transferred into a volumetric
flask and the volume made up to 100cm® mark by adding distilled water. The solution was labeled
P. 20cm® of this solution required 25¢m® of 0.1M sodium hydroxide for a complete neutralization.

(i) Determine the quantity of the excess hydrochloric acid in moles. (1 mark)

(ii) Calculate the percentage of calcium carbonate in the egg shell. (2 marks)

2 100cm’ of gas Q takes 30 seconds to diffuse through a porous plug whereas 300cm’ of
oxygen takes 120 seconds. Calculate the relative molecular mass of gas Q. (2 marks )

1 L ‘,éulphur is extracted by Frasch process.
./ (a) State two properties of sulphur that makes it possible to use the method. (2 marks )
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P. 20cm® of this solution required 25¢m® of 0.1M sodium hydroxide for a complete neutralization.

(i) Determine the quantity of the excess hydrochloric acid in moles. (1 mark)

(ii) Calculate the percentage of calcium carbonate in the egg shell. (2 marks)

2 100cm’ of gas Q takes 30 seconds to diffuse through a porous plug whereas 300cm’ of
oxygen takes 120 seconds. Calculate the relative molecular mass of gas Q. (2 marks )

1 L ‘,éulphur is extracted by Frasch process.
./ (a) State two properties of sulphur that makes it possible to use the method. (2 marks )




[image: image11.png]Ab §fudy the flow diagram below and answer the questions that follow.

\,/
HCl o) MnO, Gas L . Cold dilute Salt M
NaOH
NaCl (aq)
(a) Name gas L (1 mark)
(b) Write a balanced equation for the reaction between hydrochloric acid and
manganese (IV) oxide. (1 mark)
(c ) Explain what happens to coloured petals when dropped into a solution of M. (1 amark)
V: (a) State Gay Lussac’s law. (1 mark)

(b) 10cm® of methane (CHs) gas is exploded with 150cm? of air containing 20% oxygen
and 80% nitrogen. The products were allowed to cool to room temperature. Calculate
the total volume of the gases at the end of the reaction. (2 marks |





